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Annahmen/Voraussetzungen 
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Beispiel 

 

Maschine Kapazität 
(Monat) 

Fixkosten 
(Monat) 

Variable 
Stückkosten 

Anton 6.000 13.500,00 € 7,00 € 

Berta 4.500 12.000,00 € 10,00 € 

Cäsar 3.000 9.500,00 € 13,00 € 

Dora 7.500 15.000,00 € 5,00 € 

 

Abteilungsfixkosten: 

 

Stückerlös: 

 

Optimale Maschinenauswahl 

 

Maschine Kapazität 
(Monat) 

Fixkosten 
(Monat) 

Variable 
Stückkosten 

Rang 

    I 

    II 

    III 

    IV 

Es sollen 14.500 Stück gefertigt werden. 
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Betriebsergebnis 

 

Maschine Menge 
(Monat) 

  

    

    

    

    

 

Berechnung des Betriebsergebnisses 
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Gewinnschwellenmenge (BEP) 

 

* 

 

* 

 

* 

 

 

     

     

     

     

     

     

 

 


